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03-June-2019 Batch2 B.Ed Arts

Section 1 - Paperl-English Language

1) Select the right form of verb from the given options.

Sam the marathon for the first time in
2009.

A) did win
B) won

C) is winning
D) didn't win

2) Choose the most appropriate similar meaning word:
ADVERSITY

A) Misfortune
B) Helplessness
C) Benefit

D) Failure

Read the following passage and answer the questions
that follow:

Cultural intelligence

Cultural intelligence or cultural quotient (CQ) is a term
used in business, education, government and academic
research. Cultural intelligence can be understood as the
capability to relate and work effectively across cultures.
Originally, the term cultural intelligence and the
abbreviation "CQ" was developed by the research done
by Soon Ang and Linn Van Dyne as a researched-based
way of measuring and predicting intercultural
performance.The term is relatively recent: early definitions
and studies of the concepts were given by P. Christopher
Earley and Soon Ang in the book Cultural Intelligence:
Individual Interactions Across Cultures (2003) and more
fully developed later by David Livermore in the book,
Leading with Cultural Intelligence. The concept is related
to that of cross-cultural competence but goes beyond that
to actually look at intercultural capabilities as a form of
intelligence that can be measured and developed.
According to Earley, Ang, and Van Dyne, cultural
intelligence can be defined as "a person's capability to
adapt as s/he interacts with others from different cultural
regions", and has behavioral, motivational, and meta
cognitive aspects. Without cultural intelligence, both
business and military actors seeking to engage foreigners
are susceptible to mirror imaging. Cultural intelligence or
CQ is measured on a scale, similar to that used to
measure an individual's intelligence quotient.

People with higher CQs are regarded as better able to
successfully blend into any environment, using more
effective business practices, than those with a lower CQ.
CQ is assessed using the academically validated
assessment created by Linn Van Dyne and Scon Ang.
Both self-assessments and multi-rater assessments are
available through the Cultural Intelligence Center in East
Lansing, Michigan and the Center makes the CQ Scale
available to other academic researchers at no charge.
Research demonstrates that CQ is consistent predictor of
performance in multicultural settings. Cultural intelligence
research has been cited and peer reviewed in more than
seventy academic journals. The research and application
of cultural intelligence is being driven by the Cultural
Intelligence Center in the U.S. and Nanyang Business
School in Singapore.

3) As per the passage, people with higher CQs can

A) delegate effectively

B) work effectively individually

C) be innovative

D) use business practices more effectively

4) Cultural Intelligence is measured in the same way as

A) Creative intelligence
B) Behavioral intelligence
C) Intelligence quotient
D) Emotional intelligence

5) The term 'cultural intelligence' was developed by:

A) P. Christopher Earley and Soon Ang
B) Linn Van Dyne and Soon Ang

C) Soon Ang and Linn Van Dyne

D) Earley, Ang, and Van Dyne

6) Who among the following wrote the book, "Leading with
Cultural Intelligence"?

A) David Livermore

B) Christopher Earley

C) Soon Ang
)

D) Van Dyne

-4 _raa
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7) According to Research, CQ consistently predicts the
performance of an individual in

A) any environmental setting
B) a multi-cultural setting

C) an academic setting

D) a formal setting

8) Select the correct option.

He is well mannered boy.

A) a

B) the
C)an

D) no article

9) Select the correct plural form from the given options.

Many like pizza for dinner.

A) peoples
B) people

C) peoples'
D) persons

10) Choose the most appropriate similar meaning word:
CONSEQUENCES

A) Repercussion
B) Incentive

C) Inspiration

D) Applications

JoinUs-' > &f
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Section 2 - Paperl-Education and General Awareness

11) Which of the following recommended the introduction
of pupil teacher system (as prevailed in England) in India
and an award or stipend to the pupil teachers?

A) Calcutta University Commission (1917-19)
B) Wood's Despatch (1854)

C) Lord Stanley's Despatch (1859)

D) Education Commission (1964-66)

12) Which of the following options is the CORRECT cause
for the different seasons on Earth?

A) The short distance of the Earth from the Sun

B) The rotation of the Earth on its own axis

C) The tilt of the earth's axis as it orbits the Sun

D) The variation in the amount of heat reaching the Earth

13) Developing the sense of cooperation among
university departments and other training institutions and
providing suggestions for the development of state
teacher educators is the function of which of the
following agencies?

A) National Council of Educational Research and
Training

B) State Institute of Education
C) State Council of Educational Research and Training
D) State Board of Teacher Education

14) The 1992, National Education Policy paid special
attention on the Education of WWomen in order to

A
B
c
D

emphasize the need for knowing their legal rights
create awareness of technological developments
overcome the poor rate of illiteracy

overcome lack of awareness of government policies

— e

15) Which among the following rights is INCORRECT with
regards to the Fundamental Rights enshrined in Indian
Constitution?

A) Right to Constitutional Remedies
B) Cultural and Educational Rights
C) Right to Economic equality

D) Right against Exploitation
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Section 3 - Paperl-Reasoning

16) In a certain code language if SPRINT is written as
179952, how would SPARROW be written in that code
language?

A) 1719865
B) 1718965
C) 1719965
D) 1718865

17) Instruction: Below mentioned are three statements
followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

No bicycle is a bike
Some bikes are cars
All vans are bike

Conclusions:

I) All bikes are vans

I) All bicycles are cars
IIl) No bicycle is a van

A) Only Il follows

B) Only Il follows

C) Only | follows

D) None of the conclusions follow

18) A bus which is moving at a constant speed takes 3
hour 30 minutes to cover a distance of 140 kms. What is
its speed?

A) 40 kmph
B) 30 kmph
C) 20 kmph
D) 25 kmph

19) Instruction: In the following questions, mark:
1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il.

4, if the question can't be answered at all.
If X + 3Y = 4 then what is the value of X?
Statement | : 5X + 15Y = 20

Statement|l: Y =1

A) 1
B) 2
C)p
D) 4

20) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some logics are formulas.
Some formulas are methods.

All the methods are approaches.

Conclusions:

I) Some approaches are formulas.
Il) Some methods are logics.

IIl) No method is logic.

I\VV) Some formulas are logics.

A) Only I and Il follow

B) Only I, IV and either Il or Il follow
C) Only Il and 1lI follow

D) Only Il and IV follow



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

DeLIa I D30LY_54

U3-June-Z01% Batch! B.BEd Arts

Section 4 - Paperl-Teaching Aptitude

21) Which of the following options is a classroom
assessment technique that is used at the end of a class to
determine where the students are unclear or confused?

A) Muddiest point

B) Bell work

C) One Minute paper

D) One sentence summary

22) As per the Brown's classification which among the
following options is an example of commercial agencies
of education?

A) Sports Club

B) Adult Education Centre

C) Magazines

D) Scouts and Guides Institutions

23) Which of the following options refers to the process of
collecting information about students’ performance for the
purpose of making instructional decisions?

A) Confirmative assessment

B) Norm-referenced assessment
C) Summative assessment

D) Formative assessment

24) Principles in Constructivist Teaching involve all of the
following EXCEPT:

A) New learning depends on learners’ previous
knowledge

B) Learning is a meaning making process required to
solve only logical problems

C) Learning is facilitated by social interaction

D) Meaningful learming occurs within authentic learning
tasks

25) Which of the following options is NOT a targeted
School or Institution of Rashtriya Avishkar Abhiyan
developed by the Ministry of Human Resource
Development in India?

A) Special Schools for Disabled
B) Kendriya Vidyalayas

C) Local Body Schools

D) International Schools

28) In which of the following teaching approaches
students learn through studying course material outside of
class wafching pre-recorded lessons at home and
completing in-class assignments, as opposed to hearing
lectures in class and doing homework at home?

A) Flipped Classroom Model

B) Personalized Learning Model

C) Differentiation Instruction Method
D) Expeditionary Method

27) Which of the following was set up in 1945 as a
national-level Apex Advisory Body to conduct a survey on
the facilities available for technical education?

A
B
Cc
D

University Grants Commission

Central Board of Secondary Education
All India Council for Technical Education
Indian Institute of Science

e ey e e

28) The concept of 'Emotional intelligence' was developed
by

A
B
C
D

Jerome Bruner
Daniel Golman

Lev Vygotsky
Robert Mills Gagneé

el R et Y LS

29) Identify the advantage of the Observation method in
education from the following options.

A) Sampling cannot be brought into use
B) Problems of the past can be studied
C) One can study opinions

D) Best for the study of human behavior

30) Ankur had been watching very aggressive games and
therefore was becoming very aggressive in his general
behaviour. This is similar to the famous experiment
conducted on social learning by

A) Lev Vygotsky
B) Sigmund Freud
C) Albert Bandura
D) Carl Rogers
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Section 5 - Paperll-General English

31) Fill in the blanks with the appropriate form of the word: 36) What is the synonym of the word SPECULATION?

Onthe __ of my dentist, | started flossing every night. A) Regards
B) Conjecture
A) advice C) Credlbl'lty
B) adviced D) Aloofness
C) advise
D) advised e
37) Change the following into DIRECT speech:
| told the boys that they should do their duty.
32) What is the Antonym of "QUIESCENT"?
A) | said to the boys, "You should do your duty."
A) Latent B) | said to the boys, "You were need to do their duty."
B) Dormant C) | said to the boys, "You need to do their duty."
C) Inert D) | said to the boys, "You need to do your duty."
D) Active Al -
38) Fill in the blanks with the appropriate form of the word:
33) Please select the correct Passive form for this
sentence: Stephen Hawking has a vast of Quantum
mechanics.
Will the postman deliver the letters?
A) knowledgeable
A) Will the letters delivered by the postman? B) knowing
B) Will the letters be delivered by the postman? C) know
C) Will the letters been delivered by the postman? D) knowledge
D) The letters will be delivered by the postman?
39) Change the following into DIRECT speech:
34) Fill in the blank with the appropriate word:
The teacher said that he was busy then.
She ____ well last night.
A) The teacher said, "l am busy now."
A) not slept B) The teacher said, "He will be busy."
B) was not sleep C) The teacher told to me, "l am busy now."
C) wouldn't sleep D) The teacher said, "l am then busy."
D) didn't sleep
40) Fill in the blanks with the appropriate word:
35) Change the following sentence to INDIRECT speech:
| ___ finished my work before he came to see me.
Peter said to me, "Do you play cricket?"

A) Peter asked me that | play cricket or not A) had
B) Peter asked me whether | played cricket

B) was
C) Peter said to me whether | play cricket or not C) have
D) Peter said that do | play cricket? D) were
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Read the Passage and answer the following questions:

The first murder ever committed in the United States
occurred in September 1630, shortly after the Pilgrims
arrived in Massachusetts. John Billington was the father
of two sons, one of the first to settle in the new Plymouth
Colony near what is today Boston, and one of the people
who signed the Mayflower Compact—and he was also the
colony’s first murderer.

Billington, in fact, was the first person to commit any crime
in the colony, as far as we know today. He was also the
first to be executed by the state in the New World.
Billington’s crime was to shoot a man named John
Newcomen, for reasons which are lost to history.

But Billington’s problems had not begun on the soil of
North America. He and his sons had nearly caused a
mutiny aboard the Mayflower during the arduous trip
across the ocean. One of his sons, in fact, fired his gun
aboard the Mayflower—near an open keg of gunpowder!
The flash from the gun could easily have ignited the
powder, which would probably have sunk the ship.

Once in Plymouth Colony, Billington's behavior did not
improve. He refused to serve any form of military duty
under the leadership of Miles Standish, a duty that was
seen by the colonists as part of every man’s
responsibilities in the New World. He was later implicated
in a plot to overthrow the entire leadership of Plymouth
Colony, but a lack of evidence prompted the town's
leaders to let him go free.

In the end, Billington's rebellious and angry nature caught
up with him. He was found guilty of the murder of John
Newcomen, and died in disgrace on the gallows.

41) What is the synonym of "ARDUQOUS", as used in the
Passage?

A) difficult
B) long

C) simple
D) stormy

42) As per the Passage, which of the following best
describes John Billington?

A) bold and patriotic

B) clever and amusing
C) quiet and shy

D) angry and rebellious

43) Which of the following is NOT true of John Billington,
according to the Passage?

A) He had two sons

B) He served in the military under Miles Standish
C) He tried to lead a mutiny

D) He attempted to overthrow the Government

44) What would be a good title for the Passage?

A) The Injustices of Miles Standish.
B) America’s First Murderer.

C) Early American Legal Battles.
D) A History of Plymouth Colony.

45) According to the Passage, why didn't the leaders of
Plymouth Colony punish Billington for rebelling against
their authority?

A) He had two sons who needed him.

B) Billington was Miles Standish's nephew.
C) He was not guilty.

D) They didn’t have enough evidence.
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Section 6 - Paperll-Odia Language

46) 99 990 REARTA FRQ AR 2N | CANIRE IRE 6aR 50) ' 21U ' - 995G AF 5620 @A |

Qa6 629 gl |

A) 241+
A) o i B) ziay+ayy
B) 9 a1 C) aiqu+aiay)
C) ¥ i D) 21 +21ay
D) 9 qu

51)' 22 48 - @9 AFS JeQ AN Ao 9 |
47) 632 QIFI6R NG9 9F ARG FUQ 696015 94 9 266 ?

A) ad dIe
A) eg B) §9
B) 98 C) a0ae 6 9gs
C)9e D) agg1@
D) er
52) 33419 QI FIER QKIS RIRFIRQ FQAER |6GIRES S0F
gIo1a 6F4IR AT IERY 65aIR A5y § A7\ 968 | 9RIee 690 636080 SRI991 Q 2138 ?
6@AIa ZRIQIA FIEE ERIRGER UG KIGI 98 FFY FINAIQ
QQAEM | 6T SIAR ARG ALYIGY BESI 8 GFd -ge 1A A) 21ea1
6R87IRER J0AR AT AreSR Ane EF | 1§ ANKEa A8 B) graigt
A6e Q816 994 99° 29dg 990 AINY1 gEq 94 @A 26ae C) ge
AURAE, 218 BG4I AKIN FHAER | D) aidi
48) ' 698 ' - A8 99C 609 9IQ JYSR 26T ?
A) 50010 coe 53) 99 Q€6 6R60IT & a8 ?
B) qaeiea A) o
C) aqie zigia B) o
D) aigie 6 fada C) ee
D)r
49) gR1e GG9IQ ZYAIAIAIEY ERINGER FIAgEm | 6QHIES
st e e 9o 54) '3 ' - Q9 JIINQ § 694 69 94 A6 6Q 6TNRE ?
A) goral A) g+ @
B) asan B) g+ @+
C) egei C) g+ @
D) agen D) @+ 44
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55) QI @GOG g2 | 6QHIRE J9F 609 FIAR 26T ?

A) @d
B) agaie
C) zaeie
D) 212)aed
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Section 7 - Paperll-History and Political Science

56) Napoleon Bonaparte was defeated in

A) Battle of Plassey
B) Battle of Ecuador
C) Battle of Pais

D) Battle of Waterloo

57) Which one of the following organizations was founded
by Swami Vivekananda?

A) Theosophical Society
B) Prarthana Samaj

C) Veda Samaj

D) Ramakrishna Mission

58) Baba Ram Singh and Baba Balak Singh were

associated with which of the following socio-religious
movements?

A) Namdhari Movement
B) Ahmediya Movement
C) Shuddhi Movement
D) Deoband Movement

59) In the Indian Constitution, most emphasis has been
given to the -

A) Political and Social Rights
B) Economic Rights

C) Moral Rights

D) Religious Rights

60) Who was the Mughal emperor when Sir Thomas Roe
came fo India in 16157

A) Babur
B) Jahangir

C) Shah Jahan
D) Aurangzeb

Join Us-

61) King Louis XVI belonged to which dynasty?

A) Bonbon dynasty
B) Henry dynasty
C) Tudor dynasty
D) Bourbon dynasty

62) Who was the leader of fascism in Italy?

A) Rosa Luxemburg
B) Hitler

C) Karl Liebknecht
D) Mussolini

63) Who led the peasant movement in Awadh during the
Non-Cooperation movement?

A) Sardar Vallabhbhai Patel
B) Surendranath Banerjee
C) Baba Ram Chandra

D) Motilal Nehru

64) Non-cooperation movement was launched by the
Indian National Congress in which of the following years?

A) 1920
B) 1929
C) 1925
D) 1927

65) Who among the following presented phenomenon
leadership role during the Chittagong Armoury Raid?

A) Bhagat Singh
B) Roshan Singh
C) Raj Guru

D) Surya Sen
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66) Who among the following signed the Treaty of Bassein
in 1802 with the British East India Company?

A) Peshwa Madhav Rao |
B) Peshwa Baji Rao Il
C) Peshwa Baji Rao |
D) Peshwa Balaji Baji Rao

67) Who introduced Zamindari System in 1793 through
Permanent Settlement Act?

A) Lord Cornwallis
B) Lord Irvine

C) Lord Canning
D) Lord Wellesley

68) Who among the following established Mohammedan

Anglo-Oriental College in 1875 which later converted into
Aligarh Muslim University?

A) Sir Syed Ahmad Khan
B) Nawab Abdul Latif

C) Mirza Gulam Ahmed
D) Shah Walliullah

69) Which one of the following is the Lower House of the
State Legislature?

A) Legislative Council
B) Legislative Assembly
C) House of People

D) Council of States

70) Our Parliamentary System is based on

A) Universal Adult Franchise
B) Proportional Representation
C) Electoral College

D) Male Franchise

71) The Cabinet System of the Government in India is
similar to the Cabinet System of -

A) Canada
B) UK

C) Japan
D) USA

72) The two most important Indian national leaders who
formed Swaraj Party in 1923 are

A) Chandra Shekhar Azad and Bhagat Singh
B) Motilal Nehru and Chittaranjan Das

C) Jawaharlal Nehru and Mahatma Gandhi
D) Motilal Nehru and Jawaharlal Nehru

73) What is the retirement age of a High Court judge?

A) 60 years
B) 65 years
C) 58 years
D) 62 years

74) Who amongst the following is a competent authority
to amend the Fundamental Rights?

A) The Parliament

B) The President

C) Supreme Court

D) The Prime Minister

75) When was the first railway line started in India?

A) 1853
B) 1830
C) 1856
D) 1850
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Section 8 - Paperll-Geography

76) Aurora Australis can be seen in

A) 84°N latitude
B) 66°S latitude
C) 80°S latitude
D) 90°N latitude

77) Based on the volume of cargo handled,
Vishakhapatnam port ranks

A) First

B) Third
C) Fourth
D) Second

78) Which of the following trees can be found in alpine
vegetation cover?

A) Cedar

B) Rosewood
C) Juniper

D) Hintal

79) North east trade winds bring rains in winter to which
part of India?

A) Ganga-Yamuna Doab
B) Vale of Kashmir

C) Tamil Nadu region

D) Upper Assam plain

80) Which of the following combinations of fabric and their
originating states are matched CORRECTLY?

A) Muslin - Odisha

B) Pochampally - Kerala

C) Chanderi - Madhya Pradesh
D) Muga - West Bengal

81) In which of the following map projections neither
latitudes nor the longitudes are straight lines?

A) Mercator's projection
B) Gall's projection

C) Bonne's projection
D) Mollweid's projection

82) Kodaikanal is the highest peak of which of the
following hills?

A) Palani

B) Nallamalai
C) Kardamom
D) Nilgiri

83) In which of the following latitudes tropical cyclones are
absent?

A) 0°-5° NS
B) 40° NS
C) 15° NS
D) 65° NS

84) Which of the following regions is most important for
Mica reserves?

A) Nicobar islands
B) Bastar plateau
C) Aravallirange

D) Hazaribagh plateau

85) Zawar mine is famous for

A) silver
B) zinc

)

)
C) iodine
D) manganese
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86) Which among the following options is a bird
sanctuary?

A) Manas

B) Namdhapa

C) Keoladeoghana
D) Sariska

87) Which among the following regions of India does NOT
receive heavy rainfall?

A) Ladakh

B) Western coast of western ghats
C) Andaman and Nicobar islands
D) Meghalaya hills

88) Which of the following statements is TRUE?

A) Outside species are not allowed for conservation and
research in a national park

B) Samaspur sanctuary is famous for the conservation
of tigers

C) Outside species are allowed for conservation and
research in a biosphere reserve

D) Wildlife sanctuaries provide protection and favourable
living conditions to the wild animals

89) Which of the following is a CORRECT match between
natural resource and their respective mines?

A) Manganese - Dalli Rajhara
B) Coal - Balaghat

C) Iron ore - Khetri

D) Bauxite - Lohardaga

90) Dogri is the most commonly spoken language in the
state of

A) Punjab

B) Himachal Pradesh
C) Haryana

D) Jammu and Kashmir
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Question Paper No: 53529 34

Answer Key
I. B 31. A 61.D
2, & 32.Dr 2.1
3. D 33.B 63.C
4, C 34.D 64. A
5 € 3. B 65D
6. A 36. B 66. B
7. B 37. A 67. A
8. A 38.D 68. A
9. B 39. .4 6. B
10. A 40. A 70. A
I1.B 41. A 71. B
12. € 42.D J2. B
13.D 43. B 73. D
14.C 4. B 74. A
15: © 45, D 75 A
16. C 46. B 76. B
17.A 47.B 77.D
18. A 48. C 78. C
19. B 49 A& I%C
20. B 50. C 80. C
21. A 51. A 81. C
22. C 32.D 82. A
23. D 53. D 8374
24. B 54.B 84. D
25. D 55.C 85. B
26. A 56. D 86. C
27. G 57.0D F87.78
28. B 58. A 83. D
29. By, 59. A 89. D
30. C 60. B 90. D
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